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Libby Chapter 6  

Reporting and Interpreting Sales Revenue, Receivables, and Cash
Instructor Comments

Chapter 6 has three main topics:

1. Sales Revenue

2. Receivables (primarily accounts receivable, although the topic of notes receivable is mention)

3. Cash and Cash Equivalents (and bank reconciliations)
Sales

Sales should be recognized when 
(1) earned and 
(2) realizable (or realized).  
Normally, sales are recorded when merchandise is shipped or the service rendered.  The actual criterion for when revenue is earned is when title legally changes hands.  FOB (free on board) (see p. 278) determines legal title changes hands.  
· FOB shipping point means that the goods are legally the buyers when the asset is shipped.  Title changes hands at shipment, and the buyer normally pays for shipping.
· FOB destination means the goods legally belong to the seller until it reaches the shipping destination. Title changes hands on delivery, and the seller normally pays for shipping.
The following items are treated as a reduction of sales, contra revenue accounts, rather than as expenses:

· (Credit Card Discounts) 
· Sales returns and allowances 
· Sales discounts 
Thus, the amount reported in the income statement is net sales.
	Sales
	$1,500,000

	Less:
	

	     Credit card discounts
	75,000

	     Sales returns & allowances
	125,000

	     Sales discounts
	      40,000

	Net sales
	$1,260,000


Each component of net sales should be tracked over time in order to understand each different process.  Note that in most financial statements for public companies, the amount reported is Net Sales.  Readers are not shown the amounts for credit card fees, sales returns & allowances, and sales discounts.  
Accounts Receivable and Sales Discounts 
Sometimes companies sell merchandise or perform services and agree to take cash later (i.e., sell on credit).  The account title Accounts Receivable is used to denote this type of transaction.  When taking an account receivable in exchange for a sale, the seller essentially becomes a creditor for the buyer.  This process is not to be confused with selling and asking the purchaser to pay with a credit card.  
It is common for sellers to provide an incentive for prompt payment via a sales discount, a deduction from the sales price for paying promptly.  For example, a common business term such as 2/10, n/30 (p. 279) means that the buyer receives a 2% discount from the sales price if the amount is paid within 10 days; else, the balance is due within 30 days.

Frequently, managers want to determine the effective interest rate associated with sales discounts.  For example, assume the terms are 3/15, n/45.  A company might quickly approximate the effective interest rate by assuming a 360 day year, and 12 30-day periods during the year.  Thus, the interest rate may be approximated as 3% x 12 = 36%.  However, to calculate the effective interest rate associated with these terms precisely (see text p. 283), the effective interest rate for our example is calculated as:  ($3/$97) x (365/30) = 3.093 x 12.1667 = 37.63% effective interest rate.  

Example.  Assume that on January 1, the Luck Co. purchased $100,000 of merchandise from the Pagano Co. on account, with the terms 3/15, n45.  Pagano’s cost of inventory was $70,000.  Pagano would record the transaction as follows:

	Pagano Co. 
	
	

	Accounts receivable
	100,000
	

	     Sales
	
	100,000

	
	
	

	Cost of goods sold 
	70,000
	

	     Inventory 
	
	70,000


	Transaction Analysis Review 
· Accounts receivable is an asset account, and it increases:  debit accounts receivable.
· Sales is a revenue account, and it increases:  credit sales

· Cost of goods sold is an expense account, and it increases:  debit cost of goods sold.
· Inventory is an asset account, and it decreases:  credit inventory.


If Luck paid the bill within 15 days, he would pay $97,000, and Pagano would make the following journal entry when payment was received.

	Cash
	97,000
	

	Sales discounts (1)
	3,000
	

	     Accounts receivable
	
	100,000


(1) Sales discounts is a contra-revenue account.  An alternative account title is Sales Discounts Taken.
	Transaction Analysis Review 
· Cash is an asset account, and it increases:  debit cash.
· Sales discounts is a contra-revenue account, and it increases:  debit sales discounts.  Review Chapter 4 p. 169 (starting with last paragraph) for discussion of contra accounts.  
· Accounts receivable is an asset account, and it decreases:  credit accounts receivable.


If, however, Luck did not pay the bill within 15 days, he would pay $100,000, and Pagano would make the following journal entry when payment was received.  

	Cash
	100,000
	

	     Accounts receivable
	
	100,000


The text p. 280, Footnote 3 indicates that the method described above is the gross method, and that another method, the net method, exists.  We do not illustrate the net method.  The net method records “sales discounts not taken.”  

Note that sales discounts are accounted for as an adjustment to the sales price.  The account is a contra account (see pp. 172), which means that it has the opposite balance of the account to which it refers; sales discounts is a contra revenue account.  On the income statements, “sales” is reported as “net sales,” net of any sales discounts.  

Sales Returns and Allowances 
When customers return merchandise or the company negotiates a price adjustment because the incorrect color or size was delivered, the company records sales returns and allowances.  This account is an adjustment to sales, and “net sales” is presented net of sales returns and allowances.  

For example, if a buyer returns $15,000 in merchandise, the following journal entry would be made by the seller, assuming the original sale was on account.

	Sales returns and allowances
	15,000
	

	     Accounts receivable
	
	15,000


	Transaction Analysis Review 
· Sales returns and allowances is a contra-revenue account, and it increases:  debit sales returns and allowances.
· Accounts receivable is an asset account, and it decreases:  credit accounts receivable.


Trade Discounts 

In order to keep from changing price lists frequently, many companies will have a stated price list and the offer “trade discounts,” which are just adjustments to the sales price.  Accountants do not record trade discounts; rather, “net sales” is reported net of any trade discounts because that amount is the actual sales price.  

Gross Profit Ratio

An important ratio is the Gross Profit Ratio  (or Gross Margin Ratio) (or gross profit percentage, see p. 281).  Note: we can express as a percent or ratio, depending upon the preference and the context.
	Gross Profit Ratio
	=
	Gross Profit (1)

	
	
	Net Sales


(1) Sales – Cost of Goods Sold.  Review p. 237.
Receivables
Receivables are classified as: 
· trade (sale of merchandise or service) or nontrade 
· current (collectible within one year) or noncurrent.  
Notes Receivable
A note receivable is a promise in writing to pay (1) a specific amount of money, called principal, at a definite date known as the maturity date and (2) a specified amount of interest at one or more future dates
Credit Sales and Bad Debts

Bad Debts Expense (Allowance Method)
If a company decides to make sales or provide services and extend credit to the buyer, one cost of this type of arrangement is that sometimes the buyer does not pay.  Under the matching principle, all expenses necessary to make a sale should be matched (recorded) in the period the sale is recognized (recorded).  Of course, if a company knew that a particular buyer would not pay, then the company would not agree to make a credit sale.  But, if a company extends credit to many customers, then some will not pay.
In the period a sale is recorded, a company must estimate and record as an expense the amount of bad debts expected (usually based upon historical patterns and current economic conditions); i.e., companies accrue bad debts expense in the period in which the related sales occur—see Chapter 4 p. 170 for discussion of accrued expenses).  This method is the allowance method.
  The offset to bad debts expense is an allowance for doubtful accounts (sometimes called a reserve), which is a contra asset account (i.e., a contra asset account is one with an opposite of the normal balance—review p. 169).  Accountants use an allowance account to apply to the entire portfolio of receivables, not to specific receivables.  Remember that when we record bad debts expense, we don’t know which accounts will not be collected, and the allowance relates to the entire portfolio of receivables.  

Net accounts receivable is computed as follows.

	Accounts receivable
	$2,400,000

	Less:  Allowance for doubtful accounts (1)
	  (175,000)

	Net accounts receivable(2)
	2,225,000


(1)  also called allowance for bad debts; reserve for bad debts; allowance for uncollectible accounts; etc.

(2)  this amount represents net realizable value (p. 342 in Chapter 7), the amount the firm expects to collect. 

	Net realizable value is a key term that you should know and be able to use.


The balance sheet normally reports net accounts receivable, and frequently the amount of the allowance for doubtful accounts is not reported in the balance sheet or footnotes.
An important point to remember is that bad debts expense (and the related allowance for doubtful accounts) represents an estimate of the amount that will not be collected.  That estimate is recorded (matched) with the related credit sale.  Generally Accepted Accounting Principles (GAAP) does not allow companies to wait until the account becomes uncollectible before recording the expense, but rather, requires an estimate to be made and recorded in the period that the credit sale is recorded.
Allowance Methods

Managers normally choose between two methods to account for bad debts expense and the allowance for doubtful accounts:  
· percent of credit sales (primary focus is the income statement, and matching, and it is usually easier to compute)—see p. 287
· aging of accounts receivable (primary focus is the balance sheet, requires a more detailed computation)—see p. 288.
The percent of credit sales method is usually easier to apply; however, the aging method almost certainly gives a better estimate of the allowance for doubtful accounts and net realizable value.  The aging method is standard in some industries, e.g., the banking industry in computing the loan loss reserve.
Percent of Credit Sales Method
The percent of sales method estimates the amount of bad debts expense for the period as a function of the amount of credit sales during the period.  For example, assume that June’s monthly credit sales are $3,000,000 and the credit department estimates that 3% of credit sales will eventually not be collected.  The following adjusting journal entry is made at the end of June.

	Bad debts expense
	90,000
	

	     Allowance for doubtful accounts
	
	90,000

	$3,000,000 x 3% = 90,000


	Transaction Analysis Review 
· Bad debts expense is an expense account, and it increases:  debt bad debts expense.
· Allowance for doubtful accounts is a contra asset account, and it increases:  credit allowance for doubtful accounts.  


Note that this journal entry increases expenses by $90,000 and decreases assets by $90,000.  The $90,000 amount represents the amount added to the allowance for doubtful accounts because of June credit sales.  The allowance account balance at the end of the period is the sum of all previous entries recording bad debts expense less the amounts written off (discussed later in these notes).  For example, if the balance in the allowance for doubtful accounts were a credit balance of $5,000 before the entry above, the ending balance in the allowance account would be $95,000, as illustrated below in the T account.  
	Allowance for Doubtful Accounts

	
	Balance before adjusting journal entry =        5,000

	
	Adjustment, bad debts expense =                  90,000 (1)

	
	Ending balance =                                           95,000


(1) Computed

Note:  the use of a T account is a technique accountants use to understand the effect of a transaction.  
What would the ending balance in the allowance account have been if the beginning balance was a debit balance of $3,000?  (Note that the allowance balance, a contra asset account, normally has a credit balance.)  The ending balance in this case in the allowance account would be $87,000.  This event in which the company had a debit balance in the account before adjustment is unusual, but could occur.
	Allowance for Doubtful Accounts

	Balance before adjusting journal entry =  3,000
	

	
	Adjustment, bad debts expense =       90,000

	
	Ending balance =                                87,000


When reading financial statements, readers are not able to distinguish between credit sales and non-credit sales because only net sales is presented.  If you encounter a textbook problem where net sales is provided but net credit sales is not provided (and you cannot compute net credit sales), AND you are asked to compute bad debts expense using the percent of sales method, then apply the percentage to the entire amount of net sales.  While not theoretically correct, this solution is expedient.  

Aging Accounts Receivable Method
This method takes a different approach than the Percent of Sales Method.  Under the Aging Method, at the end of each period the accounts receivable are analyzed as to how old are the individual accounts:  i.e., not yet past due, 0-30 days past due, 31-60 days past due, etc.  A percentage is applied to each of the aging categories, and the percentage increases as the amount of time past due increases.  For example, assume the following aging schedule.  
	Receivable Age
	Estimate %

Uncollectible
	Total Accounts

Receivable
	Estimated Uncollectible Amounts

	Not yet due
	3%
	1,000,000
	30,000

	0-30 days past due
	7%
	300,000
	21,000

	31-60 days past due
	15%
	60,000
	9,000

	> 60 days past due
	40%
	       20,000
	  8,000

	
	
	1,380,000
	68,000


Assume the accounts receivable balance is $1,380,000; then, net accounts receivable should be reported in the balance sheet at $1,380,000 - $68,000 = $1,312,000.  
If the existing credit balance in the allowance for doubtful accounts was a credit balance of $17,000 before the adjusting journal entry, then the following adjusting journal entry would be made. 

	Bad debts expense
	51,000
	

	     Allowance for doubtful accounts (1)
	
	51,000

	(1) $68,000 needed credit balance - $17,000 existing credit balance = $51,000 needed addition


	Transaction Analysis Review 
· Bad debts expense is an expense account, and it increases:  debt bad debts expense.

· Allowance for doubtful accounts is a contra asset account, and it increases:  credit allowance for doubtful accounts.  


A T Account helps illustrate the situation.  

	Allowance for Doubtful Accounts

	
	Balance before adjusting journal entry =  17,000

	
	Adjustment, bad debts expense =              51,000

	
	Ending balance (from the aging) =            68,000 (2)


(2) Computed
If the beginning balance in the allowance account had been a debit balance of $5,000, then journal entry would have been for $73,000 ($68,000 + $5,000).  

	Allowance for Doubtful Accounts

	Balance before adjusting journal entry =  5,000
	

	
	Adjustment, bad debts expense =              73,000

	
	Ending balance (from the aging) =            68,000 (2)


What Happens When a Specific Account is Deemed Uncollectible?
When a specific account is deemed uncollectible, the amount must be written off against the specific account receivable and the general allowance for doubtful accounts (recall that the allowance pertains to the portfolio of all accounts receivable, not a specific account receivable).  For example, assume that a specific account for $18,000 is deemed uncollectible and should be written off.  The following entry is made.

	Allowance for doubtful accounts
	18,000
	

	     Accounts receivable
	
	18,000


	Transaction Analysis Review 
· Allowance for doubtful accounts is a contra asset account, and it decreases:  debit allowance for doubtful accounts.  

· Accounts receivable is an asset account, and it decreases:  credit accounts receivable.


NOTE:  The write-off entry does not change the balance of net accounts receivable, nor does it affect bad debts expense.  An asset account (accounts receivable) and a contra asset account (allowance for doubtful accounts) are written off in the same amount.  Therefore, this journal entry does not change net realizable value.  
Note:  GAAP does not allow a company to use the direct write-off method, which delays the recognition of the bad debts expense until the accounting is deemed uncollectible.
What happens in the infrequent case when an account that was previously written off is collected?  Traditionally, accountants reverse the write-off and reinstate the account and then record collection of the account.  For example, assume that the $18,000 written off above was collected in full.  The following is the traditional journal.  

	Accounts receivable
	18,000
	

	     Allowance for doubtful accounts
	
	18,000

	To reinstate the account
	
	

	
	
	

	Cash
	18,000
	

	     Accounts Receivable
	
	18,000


Bad Debts Expense, Write-Offs of Accounts, and Net Realizable Value

To illustrate the full cycle and how the accounting for accounts receivable and bad debts affects financial statements, start with the following balance sheet information that reports net accounts receivable at its $15,800,000 net realizable value.  

  

	Current Assets
	
	

	Accounts Receivable
	18,000,000
	 

	Less:  Allowance for Doubtful Accounts
	2,200,000
	 

	     Net Accounts receivable
	 
	15,800,000


Next, let's make the month ending adjusting journal entry (AJE) to record and additional $550,000 in bad debts expense (computed using either the percent of credit sales or the aging of accounts receivable method).
	Bad debts expense
	550,000
	 

	       Allowance for Doubtful Accounts
	 
	550,000


Note, the AJE increases expense and decreases net assets by $550,000, and the balance sheet is as follows:

	Current Assets
	
	

	Accounts Receivable
	18,000,000
	 

	Less:  Allowance for Doubtful Accounts
	2,750,000
	 

	     Net Accounts receivable
	 
	15,250,000


Next, let's write off a specific account, say for $3,000.  The journal entry is as follows:

  

	Allowance for Doubtful Accounts
	3,000
	 

	     Accounts receivable  
	 
	3,000


Note:  we decrease an asset account by $3,000 and the contra asset account by the same amount; therefore, net accounts receivable (i.e., net assets) does not change. After the write-off we see, the balance sheet is as follows:

	Current Assets
	
	

	Accounts Receivable
	17,997,000
	 

	Less:  Allowance for Doubtful Accounts
	2,747,000
	 

	     Net Accounts receivable
	 
	15,250,000


 

Note:  net accounts receivable, which is reported at net realizable value, remains $15,250,000, the same amount as before the write-off.  Writing off a specific account did not affect net realizable value.  
Cash and Cash Equivalents

Cash equivalents (p. 293) are investments with original maturities of three months or less that are readily convertible into cash and whose value is unlikely to change.  Examples are certificates of deposits, treasury bills.  

RATIO ANALYSIS
Receivable Turnover (Accounts Receivable Turnover)
Accounts Receivable Turnover (p. 290, 303) is a common ratio used to help understand the financial statements of a firm that sells on credit. 
	Accounts Receivable Turnover
	=
	Net Credit Sales (1)

	
	
	Average Net Trade Accounts Receivable (2)


(1) Note:  Difference From Text.  The textbook numerator is Net Sales.  Because net credit sales are not usually reported separately, most financial analysts use net sales.  However, net credit sales is the proper amount.  If you are provided total sales but not net sales, then use total sales in this computation.  
(2) Because net trade accounts receivable are not usually reported separately, most financial analysts use net accounts receivable.  If trade accounts receivable are reported, then use average net trade receivables in the denominator.
Therefore, the ratio used by most individuals external to the firm is:

	Accounts Receivable Turnover
	=
	Net Sales 

	
	
	Average Net Accounts Receivable


The accounts receivable turnover measures the amount of sales per dollar of average accounts receivable.  In general, the higher ratios are preferred to lower ratios.  Managers and analysts track the ratio over time and compare a company’s ratio to the ratios of competitors and industry standards.

Average Collection Period (Average Days Sales in Receivables) (p. 290).  

Average Collection Period (Average Days Sales in Receivables).  The accounts receivable turnover can be used to compute the average days sales in receivables by dividing 365 by the accounts receivable turnover.  For example, a company that has an accounts receivable turnover of 14.6 takes, on average, 25 days to collect its receivables:  365 ÷ 14.6 = 25.  The ratio is tracked by a company against its competitors and industry standards.  
Gross Profit Percentage 
Gross Profit Percentage is a critical relationship that is tracked over time and compared with those of competitors.  
· The gross profit percentage is computed by dividing gross profit by net sales.  
· A related concept is the cost of goods sold percentage, which is computed as cost of goods sold divided by net sales.
	Net sales
	$94,700,500
	100.00%

	Cost of goods sold (1)
	65,024,700
	68.66%, cost of goods sold percentage

	Gross profit
	29,675,800
	31.34%, gross profit percentage


(1) Another title is cost of sales.

Gross Profit Ratio.  The terms gross profit percentage and gross profit ratio are both used.  Whether the amount is presented as a percent or ratio is personal preference or a standard practice in a particular organization.  
Statement of Cash Flows

As we will see in Chapter 12, almost every company uses the indirect method of reporting operating cash flows (review pp. 240 & 241 in Chapter 5).  In the indirect method, we start with Net Income (an accrual based measure), and reconcile to cash flow from operations.  The text introduces individual adjustments in each chapter, but the entire statement is addressed in Chapter 12.  For accounts receivable, the following adjustment is made.

	Net Income

	Adjustments

	       Decrease (Increase) in Net Accounts Receivable

	


To help understand this adjustment, for example assume that the Smith Co. reported net income of $15,500,000.  Also, net accounts receivable increased during the period by $300,000.  The following would be reported in the Statement of Cash Flows.

	Net Income
	$15,500,000

	Adjustments
	

	       Decrease (Increase) in Net Accounts Receivable
	(300,000)


Why does this adjustment work?  Let’s look at the T account for accounts receivable.

	Accounts Receivable

	Beginning balance
	

	Sales on account (credit sales)
	Cash collections of receivables

	Ending Balance
	


Note that, by construction, the difference between the beginning and ending balances in accounts receivable is exactly the same as the difference between credit sales and cash collections.  Net income already includes credit sales (sales on account), but the statement of cash flows needs to report the amount of cash collections.  If the balance in accounts receivable went up during the period, then credit sales must have exceed cash collections; therefore, the increase in accounts receivable of $300,000 is subtracted from net income to get to the correct cash flow from operations.  

To be more concrete, let’s use the following specific example:
	Accounts Receivable

	Beginning balance =                   1,500,000
	

	Sales on account (credit sales) = 4,000,000
	Cash Collections =         3,700,000

	Ending Balance =                        1,800,000
	


The increase in accounts receivable ($1,800,000 - $1,500,000 = $300,000) is, by construction, equal to the excess of credit sales over cash collections ($4,000,000 - $3,700,000 = $300,000).  

Changing the previous example, let’s assume that the balance in accounts receivable decreased by $200,000; net sales were $3,500,000 rather than $4,000,000; and net income remained at $15,500,000.  The revised T account looks as follows.

	Accounts Receivable

	Beginning balance =                   1,500,000
	

	Sales on account (credit sales) = 3,500,000
	Cash Collections =         3,700,000

	Ending Balance =                        1,300,000
	


Note that for the accounts receivable balance to decrease, cash collections had to exceed sales on account by $200,000.  The Statement of Cash Flows adjustment is as follows:

	Net Income
	$15,500,000

	  Adjustments
	

	       Decrease (Increase) in Net Accounts Receivable
	200,000


Shown below is the template for the SCF Operating Activities Section.  The entire Chapter 12 deals with the SCF.  
BASIC INFORMATION COMMON TO MOST STATEMENTS OF CASH FLOWS

Cash Flow From Operating Activities
Net Income

Add (Deduct) amounts to reconcile from net income to cash flow from operations
1a.
Non-cash expenses: depreciation, depletion, amortization, asset impairments
1b.
(Non-cash revenues) e.g., investment income for securities accounted for under the equity method 
2a.
Losses on sale of assets

2b.
(Gains) on sale of assets
3a.
Decreases (increases) in operational current assets and deferred income tax assets

3b.
Increases (decreases) in operational current liabilities and deferred income tax liabilities
Here is a mental rule that you can help to remember how the adjustments to operational current assets and operational current liabilities are made.  Memorize this heuristic.

· If the increase or decrease in the operational current asset or current liability account was a debit during the year (e.g., increase in current asset or decrease in current liability), then think of the needed offset as a credit to (a reduction in) cash.  This is the case in the example above.  

· If the increase or decrease in the operational current asset or current liability account was a credit during the year (e.g., decrease in current asset or increase in current liability), then think of the needed offset as a debit to (an addition to) cash.  

	Note:  even though we will not study the statement of cash flow in depth until Chapter 13, you are responsible for understanding the adjustments.  This type of question will appear on your graded quizzes and exams.  


Bank Reconciliations

Students should be able to perform a basic bank reconciliation (see pp. 294-297).
CHAPTER LEARNING OBJECTIVES (From Authors)
	Learning Objectives
	PowerPoint® Slides

	1.
Apply the revenue principle to determine the accepted time to record sales revenue for typical retailers, wholesalers, manufacturers, and service companies.
	6-1 through 6-2

	2.
Analyze the impact of credit card sales, sales discounts, and sales returns on the amounts reported as net sales.
	6-3 through 6-7

	3.
Analyze and interpret the gross profit percentage.
	6-8

	4.
Estimate, report, and evaluate the effects of uncollectible accounts receivable (bad debts) on financial statements.
	6-9 through 6-22

	5.
Analyze and interpret the receivable turnover ratio and the effects of accounts receivable on cash flows.
	6-23 through 6-24

	6.
Report, control, and safeguard cash.
	6-25 through 6-33

	Recording discounts and returns
	6-34 through 6-38


CHAPTER TAKE-AWAYS (From Authors)
After studying this chapter, you should be able to:

6-1 Apply the revenue realization principle to determine the accepted time

to record sales revenue for typical retailers, wholesalers, manufacturers,

and service companies. p. 000

6-2 Analyze the impact of credit card sales, sales discounts, and sales

returns on the amounts reported as net sales. p. 000

6-3 Estimate, report, and evaluate the effects of uncollectible accounts

receivable (bad debts) on financial statements. p. 000

6-4 Analyze and interpret the receivables turnover ratio and the effects

of accounts receivable on cash flows. p. 000

6-5 Report, control, and safeguard cash. p. 000
�  Another method, the direct write-off method is not GAAP, and it records bad debts expense when the account is deemed to be uncollectible.  








